PAPAY ABCD @] F 231 A, ColA B12h4 BD O
2 717 E, Fot @ v, DAECF 7} BAAPE Y-S S0kt
&~ @ SoiZ Ao $7 e 7L

o, rx do
O 1o
_w L o

B4 o

A D

B C

[7178] cABCD & H A S, /AED = /CFB = 90°
[22] DAECF = YA Y

[T9¥] LAED=[ @ |97}

AE//[ © |-®

AAED 9} ACFB 9| A
(AED = /CFB=90°,

AD=[ © |[ @ J=«cBF

w2t AAED = ACFB (RHA &%)

[ @ |=CF---®

@,®°1 °J5t4] CAECF &= AP oI},

® @ : /CFB ® ©:CF ® ©: BC
@@2ACDB ® @ : AE

@ (CBF = /ADBo]t},




AtotelE, BRAY, AAY, nhE R, Al tist 4 S

A2 G} kSR 4P SA AL Y A g B4
Z1golct




< &= 'M
=R
e

R o .
2 0 o
M . o o
8 & o SRk e w
2w B 2 L % & ou
< ey I

N N
B E g, ST
umm,m,_ E N < XN
g 7T 5T T 9
T T oo o M
25w TEEEZ
l[e]

W R —_
%W%) BoU U U T

(==

= @@ e o o



4.

FPAHE ABCD o Y Ho &+ H P & FS
APCD, APAD, APBC 9] Yol
th.APAB 9] Ho]&?

D

® 10cm? @ 15cm? ® 18cm?
@200m2 ® 22cm?

ZYZ¥ 10cm? , 8cm? , 22cm?

f

ol

APAD + APBC = APAB + APCD
8+ 22 = APAB + 10
- APAB = 20(cm?)




o




6. o 23] AD//BC ¢l Athe]lE ABCDYIA OA: OC =1:2
oltt. AAOD 9] Yo7t 18 ¢ wf, bABCD 2] Hol&?

@® 148 @ 150 @162 @ 175 ® 180

S8 \
AAOD : ACOD =1:20]B2=2
18: ACOD=1:2 ..ACOD = 36
ojmf AABD = AACD ©|2 &
AABO = ACOD = 36
T AABO:ACOB=1:290]|2=2
36: ACOB=1:2 ..ACOB="172
.. OABCD =18 + 36 + 36 + 72 = 162




ol

@ 6 @7 3)8 @9

HAT = ABCD oA x 9] ZolE Fafoiet.

® 10

A D
v
1
I
| A60° 60
BEH—A——D¢
NUPEUNG I

ADECE Aol R x =4+ 4 = 8ot}




L

th& 132 pABCD 9] ¥ BC 9] A4
9ol AC//DE 7} HA M E & 72 Aol
OABCD 9] 5017} 30cm? & o, AABE ©
ylolE?

¢

lo &

@ 15cm? @ 20cm? ® 25cm?
@30 cm? ® 60cm?

~&B

AC//DE ©]22 AACD = AACE o]t}
AABE = AABC + AACE

= AABC + AACD

= gABCD

. AABE = 30(cm?)




9. the 139 FPAHEF ABCD A AC //EF o] aABCF 9] Hol7}
15cm? € o, AACE 9] Ylo]=?

A k D
F
B C
D)15cm? @ 20cm? ® 25cm?
@ 30cm? ® 35cm?

€8 )
AB//DCelB= @} o]7} Zop
ABCF = AACF o],
AC//EFo]B2 ¥H 3} Lo]7} Zrof
AACF = AACE
. AACE = 15(cm?)




S ABCD 7} At

10. o= mt

_C
M

[aa)]

AC1BD

@

® AD//BC

=DO

@ BO




